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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] ] ] I I
3500 —>— EcFzExp :
3000 4- —>¢—  ECdef :
—>— water_ec | f

2500 : :
2000

1500 I

M !

1

1000 1

1

Warning: col| ['EcFgro’, 'EcPltng'] is missing

500

50 75 100 125 150 175
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b-o', 'FVIPH:r—o’, 'PHl:g=0']]
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Trend plot forP3 0

minFVI
minFVO

1
1
1)
1
1
]
1
1
I
1
1
I
1
3.5 !
1
1
1
1
1
g

Warning: col ['minFViraw' , 'minFVOraw' ] is missin

2.0 .
1

[ ] ETcAlraw
—  ETcATl
—@— ETcA

0.2+ L

0.6 0.8 1.

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0
1 1 . 1 1 1 1
3000
@ @ @ @ @ @ @ @ @ @ @ ® @ @ @ @ ® o—{
9800 4 @ 4 o—© o—@ —© @ o—© —© —@ @ O—0—{
@ 4 @ ® @ @ 4 @ @ @ ® 4 @ @ @ ® 4 O

2600

2400

e @ == — - —

31.5 4

: —@— WCperM
1
1
31.0 1
1
1
1
30. 5 A 1
1
1
30.0 —@ . 4 @ L 4 @ L 4 . 4 . 4 L 4 L 4 L 4 . 4 * . 4 L 4 L 4 @ L 4 . 4 L 4 . 4 . 4 L 4 @ @ . 4 . 4 . 4 @ @ —{
1
1
1
29.5 - ,
1
1
29.0 |
Warning: col [ WCperMraw', 'WCperMavg'] is missingjI
28.5 1
1
1 1 . 1 1 1 1
0.50 p—@ 4 . 4 @ . 4 @ 4 . 4 @ @ @ 4 ? 4 L 4 @ . 4 @ 4 L 4 4 . 4 @ . 4 L 4 4 . 4 4 . 4 L 4 O—
1
1
0. 45 ~ i
1
1
1
0. 40 + 1
1
1 —@— minDeltaM
0. 35 A : —@®— avgDeltaM
: —@— stdDeltaM
0.30 »—@& @ L @ @ @ @ L @ @ @ @ + @ @ @ L @ @ @ @ L @ L @ @ L @ L @ o—(
1
1
0. 25 A :
1
1
0.20 p—@ @ @ L 4 @ L 4 @ @ L 4 @ L 4 @ ? @ @ L 4 @ L 4 @ @ @ @ L 4 @ @ @ @ @ @ @ O—
1 1 1 1 1 1
30 p—0 @ L @ L @ @ L @ L @ @ ? @ L @ L @ @ L @ L @ L L @ L @ o— —@— begM I
: =@ maxM
98 : —@— minM
1
1
1
i 1
26 1
P @ @ L @ L @ L L @ L @ * @ @ L @ L @ @ @ L L @ @ @ L @ @ @ o—
1
24 ~ 1
1
1
1
22 :
1
1
1
20 p—@ @ @ @ @ @ @ @ @ @ @ @ ? @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ O—(
: ad JFVOR
0. 04 - |
1
1
1
0.02 + :
1
1
1
0.00 !
1
1
1
—0. 02 - :
1
1
1
0. 04 1 Warning: col ["adjFVIRraw, "adjFVIR", adeVORraV\’I 1T is missing
1.1 4 ) e o o e o o o o o o o o o o o o o o
o
1 0 N . .
) & o o e © e © o
0.9+
0.8 A [ ) FRC
[ ] FRraw
0.7 A FR
0.6 -
0.5+
®
. m
0.4 + WJ Is missing
®

= | o o o e ] o o ____‘____________________’. -

99. 5 A

59.0

58.5

58.0

57.5 -

57.0 -

56.5 -

56. 0

140 o postFgEtraw
—@— postFgEtavg

—@— postFgEt

120

100 -

80 A

60

40 -




FgDaily

0.0 -

1.0 -

2.0 -

3.0

4.0

1
(=}
[t}

6.0

7.0

8.0

9.0

10.0




P3_0

N
N\ /
V

AN
/N
/
/
/
(
8'—’_‘\\‘
Y
— .
~
\
N

0000000000000000000000000000000
000000000000000000000000000000000000000000000000
™ N N — — ™ ™ N N — — < < ™ ™ N N ™ ™ ™ N N N N N m m % M m m % 444444444



ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ESo

| |
ETcI ETcIdef ETcP ETcPT ETclis

ETol

ETbai

pR

pVPD

VN

PPFD

T

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

RH

VN

300 ~

250 -

200 ~

150 A

1600 -

1400 ~

1200 -

1000 -

800 -

600 -

20 A

18

16

14

12

o 0

9

70.0
67.5
65. 0
62. 5
60. 0
57.5 A
55. 0 -

52.5

[ {((()

[ { (0

350 -

300 -

250 -

200 -

150 -

100 ~

50 A

350 -

325 -

300 -

275 -

250 -

225 A

200 -

'y )
9

T
200
ETcl

T
250

T
300

T T T T
750 1000 1250 1500
ETol

12.5

15.0

17.5

20.0

T
200
VN

T
300

200

250

300

350



2500

2000 -

1500 ~

1000

500 -

® obs
Fit

o 1 ‘!%i!.

50

100 150

baiA

baiB

1.0

0. 4425

0. 0452

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8 1.

obs

350 ~

300 -

250 ~

200 -

150 ~

100 -

50 A

Fit vs obs: a=0.58, b=76.92

r=0. 37

1.0

200 250

Fit

100 150

300

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2 0.4 0.6 0.8

1.

0



hour

9:25
11:35

100

80

60

40

20



e [ ERARK ) [ ElE EA/H) (XS iR

09:75 233 100.0 | = TRER009:25 (R FATe Eies)
1135 233 100.0 | A TEIe11:35 Gk :1%@%%—
BT 4660 2R 200.0 B EC: 2500.0, PH: 6.




FRV (ml plant-1)
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P3_0, Day=13 (2025-04-18)
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ZXIAEPRIEBES0. 0 ml.

large discrepency for begining water status (80:285.0), set to 121.0 ml.
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large discrepency for begining water status (44:261.0), set to 87.0 ml
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